

$$ny - y < n^2 + 1 \Rightarrow ny - y < n^2 + n + 1$$

$$\Rightarrow n^2 + (1 - y)n + y < 1 \Rightarrow y^2 - 2y + 1 - (y - 1) \geq 0$$

$$\Rightarrow y^2 - 3y + 1 \geq 0 \Rightarrow (y + 1)(y - 1) \geq 0 \Rightarrow y \in (-\infty, -1] \cup [1, +\infty)$$

ان $y < n^2 - 1$ $\Rightarrow R \in [y_{\min}, +\infty)$ $\Rightarrow y < \sqrt{n^2 - 2n + 1}$

$$n < \frac{1}{y} \Rightarrow y_{\min} = -\frac{1}{n} \Rightarrow R \in [-\frac{1}{n}, +\infty)$$

$$\Rightarrow y < \sqrt{n^2 - 2n + 1} \Rightarrow R \in [0, 1] \cup [2, +\infty)$$

$$\Rightarrow y < \sqrt{n^2 - 2n + 1} \Rightarrow R \in [0, 1] \cup [2, +\infty)$$

ان $y < \frac{n^2 + 1}{n^2 - 1}$ $y < R - \frac{1}{R} \Rightarrow y < R - \frac{1}{R}$

$$\Rightarrow y < \frac{n^2 + 1}{n^2 - 1} \Rightarrow y > 0, y \neq \frac{1}{y} \Rightarrow y \in [0, 1) \cup (1, +\infty)$$

$$\Rightarrow y < \frac{n^2 + 1}{n^2 - 1} = \frac{\sqrt{n^2 + 1}}{\sqrt{n^2 - 1}} + \frac{1}{\sqrt{n^2 - 1}} \Rightarrow y \geq \sqrt{1 + \frac{1}{n^2}} + \frac{1}{\sqrt{n^2 - 1}} \Rightarrow y \in [\frac{\sqrt{1 + \frac{1}{n^2}}}{1}, +\infty)$$

$$\Rightarrow y < \frac{n^2 + 1}{n^2 - 1} \Rightarrow y \geq \frac{1}{n^2 - 1} \Rightarrow y \geq \frac{1}{n^2} \Rightarrow y \in [\frac{1}{n^2}, +\infty)$$

$$y < \frac{n^2 + 1}{n^2 - 1} \Rightarrow -1 < 1 \Rightarrow y \in (-\infty, -1] \cup [1, +\infty)$$

$$y < \frac{n^2 + 1}{n^2 - 1} \Rightarrow n^2 < \frac{y + 1}{y - 1} \Rightarrow \frac{-1}{1 - 1} \Rightarrow y \in (-\infty, -1] \cup [1, +\infty)$$

$$y < \frac{1 \sin \theta - 1}{\sin \theta + 1} \Rightarrow \sin \theta < 1 \Rightarrow y < -\frac{1}{1} \Rightarrow y < -1$$

$$\sin \theta < -1 \Rightarrow y < \frac{1}{1} \Rightarrow y < 1$$

$$\Rightarrow \sin \theta = \frac{1 - y}{y + 1} \Rightarrow \frac{1 - y}{y + 1} \leq 1 \Rightarrow y \in [-1, 1]$$

$$\left[\underbrace{y_s \left(1 - \frac{1}{r}\right)^r}_{\substack{\text{10, 10, 10} \\ \Rightarrow}} \left(1 - \frac{1}{r}\right)^r, \dots, y_s \cdot \left(1 - \frac{1}{r}\right)^r, \dots, \underbrace{\left(1 - \frac{1}{r}\right)^r}_{+1/10} \cdot \frac{r}{r} \Rightarrow 1, \dots, \left(1 - \frac{1}{r}\right)^r \Rightarrow +\infty \Rightarrow y_s \cdot \left(1 - \frac{1}{r}\right)^r] \Rightarrow y_s [\cdot, 1)$$

$\Rightarrow \begin{cases} n+1 & n \geq 3 \\ 3n-4 & 1 \leq n \leq 3 \\ -n-1 & n < 1 \end{cases}$

$\Rightarrow y \geq f \Rightarrow y = [f, +\infty)$

$$y \leq |x-1| - |2x+1|, y \leq 1 \Rightarrow \begin{cases} x+1 & x \leq -1 \\ -x-1 & -1 \leq x < 1 \\ -x-1 & x \geq 1 \end{cases}$$

$y_c[n] + [r^n - n] \Rightarrow y_c[n] + [-n] + r^n \Rightarrow \begin{cases} n \in \mathbb{Z} \Rightarrow y = r^n \dots \dots \dots \\ n \notin \mathbb{Z} \Rightarrow y = r \dots \dots \dots \end{cases}$
 $Ry = \{r, r^n\}$
 $y_c[r^n - [n]] \Rightarrow Ry = [-2, \infty)$

$$y = \sin^r u - \sin^r u + 1 \Rightarrow \begin{cases} |t| \leq 1 \Rightarrow y \leq 1 \\ -\frac{b}{Pa} \leq \frac{1}{P} \Rightarrow t \leq \frac{1}{P} \Rightarrow y \leq \frac{P}{P} \Rightarrow y \leq 1 \end{cases} \quad \bigcap \Rightarrow y \in [\frac{P}{P}, 1] \quad \checkmark$$